

HODGE STYLE CHERN CLASSES FOR VECTOR BUNDLES ON SCHEMES

N. MOHAN KUMAR, A. P. RAO, AND G. V. RAVINDRA

1. INTRODUCTION

In this note, we develop the formalism of Hodge style chern classes of vector bundles over arbitrary quasi-projective schemes defined over K , a field of characteristic zero. The theory of Chern classes is well known by now and without any restriction on the characteristic, can be defined in many theories with rational coefficients, like for example the Chow ring. Atiyah [1] developed the theory of Chern classes of vector bundles with values in the Hodge ring $\oplus H^p(X, \Omega_X^p)$ for smooth complex varieties. Grothendieck [2] remarked that Atiyah's constructions could be transposed (*"sans difficulté"*) to the case of any S -scheme X and referred to a future paper where it would appear. To the best of our knowledge, this has not occurred.

The primary purpose of this note is to satisfy ourselves that indeed the formalism extends to the case of arbitrary schemes and at the same time to fill a gap in the existing literature. Everything in this paper is "known" to experts and has indeed been written down many times in the case of smooth varieties and has been generalised in various directions. Our purpose is to provide a suitable reference for our own use of this theory on schemes as well as to provide a self-contained exposition that would be suitable for a new-comer to the subject.

Our personal motivation for making sure that the theory was valid for arbitrary schemes was in understanding intersection theory on non-reduced hypersurfaces in projective spaces (see [7]). Unlike in the theory of Chern classes with values in the Chow ring, there is a closer connection between the Hodge cohomology of these hypersurfaces and that of the projective space.

The goal of this paper is to verify the following: let X be a quasi-projective scheme over a field K of characteristic zero. For any vector bundle \mathcal{E} of rank r on X , there is an element $c(\mathcal{E}) = 1 + \sum_{i=1}^r c_i(\mathcal{E})$ in the graded commutative K -algebra $\oplus H^i(X, \Omega_X^i)$ satisfying the following two properties:

Date: November 3, 2005.

- (1) If $f : Y \rightarrow X$ is a morphism, then $f^*(c_i(\mathcal{E})) = c_i(f^*\mathcal{E})$.
- (2) If $0 \rightarrow \mathcal{F} \rightarrow \mathcal{E} \rightarrow \mathcal{G} \rightarrow 0$ is an exact sequence of vector bundles on X , then $c(\mathcal{E}) = c(\mathcal{F})c(\mathcal{G})$.

In order to do so, we approach it at the level of a standard textbook like [4] sketching the various theories required. One of the remarks we make is that in order to get a theory which satisfies the Whitney sum formula (2) above, it is necessary that the field have characteristic zero or larger than the ranks of the bundles involved.

2. CUP PRODUCTS IN COHOMOLOGY OF SCHEMES

Let X be a quasi-projective scheme defined over a base ring R , \mathcal{F} , \mathcal{G} , coherent sheaves of \mathcal{O}_X -modules over X . We will review the theory of cup-products where given $\alpha \in H^p(X, \mathcal{F})$ and $\beta \in H^q(X, \mathcal{G})$, $\alpha \cup \beta$ is defined in $H^{p+q}(X, \mathcal{F} \otimes \mathcal{G})$. This theory is well known going back to [3] where it is shown that cup product is a homomorphism

$$H^p(X; \mathcal{F}) \otimes_{H^0(X, \mathcal{O}_X)} H^q(X, \mathcal{G}) \rightarrow H^{p+q}(X, \mathcal{F} \otimes_{\mathcal{O}_X} \mathcal{G})$$

2.1. Cohomology. Fix an affine open cover $\mathfrak{U} := \{U_i\}$ of X . It is well known that sheaf cohomology of a coherent sheaf \mathcal{F} (defined using injective resolutions) on X can equivalently be computed using Čech cocycles relative to the cover \mathfrak{U} (see for instance [4]).

The Čech cohomology groups of \mathcal{F} are defined as follows:

Given an affine open cover \mathfrak{U} of X , define α to be a k -cochain with values in \mathcal{F} if for each $(k+1)$ -tuple (i_0, \dots, i_k) , $i_0 < \dots < i_k$, $\alpha(i_0, \dots, i_k) \in \Gamma(U_{i_0 \dots i_k}, \mathcal{F})$ where $U_{i_0 \dots i_k} := \bigcap_{j=0}^k U_{i_j}$.

Define a boundary map

$$\partial : \bigoplus \Gamma(U_{i_0 \dots i_k}, \mathcal{F}) \rightarrow \bigoplus \Gamma(U_{i_0 \dots i_{k+1}}, \mathcal{F})$$

where $\partial\alpha(i_0, \dots, i_{k+1}) = \sum_{j=0}^{k+1} (-1)^j \alpha(i_0, \dots, \hat{i}_j, \dots, i_{k+1})$

It is standard that $\partial^2 = 0$. Thus we get a complex which we denote by $\mathcal{C}^\bullet(X, \mathfrak{U}, \mathcal{F})$ and refer to as the Čech complex.

- Definition 1.**
- (1) A k -cocycle is a k -cochain α such that $\partial\alpha = 0$
 - (2) A k -coboundary is a k -cochain of the form $\partial\alpha$ where α is a $(k-1)$ -cochain.
 - (3) The k -th Čech cohomology group of \mathcal{F} with respect to the affine open cover \mathfrak{U} is defined as

$$H_{\mathfrak{U}}^k(X, \mathcal{F}) := \frac{\text{\textit{k} - cocycles}}{\text{\textit{k} - coboundaries}}$$

For convenience of notation, in the ensuing discussion we shall drop the subscript \mathfrak{U} and simply denote the above cohomology group by $H^k(X, \mathcal{F})$.

Remark 1. In the usual theory of Čech cohomology, one looks not at just one open cover but also refinements of a given cover. If \mathfrak{V} is a refinement of \mathfrak{U} , then there are induced maps of Čech complexes $\mathcal{C}^\bullet(X, \mathfrak{U}, \mathcal{F}) \rightarrow \mathcal{C}^\bullet(X, \mathfrak{V}, \mathcal{F})$ which descends to a map of cohomologies. It is a fact then that the sheaf cohomology is a direct limit over all such coverings.

Given a short exact sequence of sheaves

$$0 \rightarrow \mathcal{F}' \rightarrow \mathcal{F} \rightarrow \mathcal{F}'' \rightarrow 0$$

there exists a long exact sequence of Čech cohomology groups

$$\dots \rightarrow H^k(X, \mathcal{F}') \rightarrow H^k(X, \mathcal{F}) \rightarrow H^k(X, \mathcal{F}'') \xrightarrow{\delta_k} H^{k+1}(X, \mathcal{F}')$$

where the *connecting homomorphism* δ_i is defined as follows:

Locally $\alpha(i_0, \dots, i_k) \in \Gamma(U_{i_0 \dots i_k}, \mathcal{F}'')$ can be lifted to an element $\tilde{\alpha}(i_0, \dots, i_k) \in \Gamma(U_{i_0 \dots i_k}, \mathcal{F})$. Since the image of $\partial \tilde{\alpha}$ in \mathcal{F}'' is zero, therefore $\partial \tilde{\alpha}(i_0, \dots, i_{k+1}) \in \Gamma(U_{i_0 \dots i_{k+1}}, \mathcal{F}')$. We now define $\delta \alpha = [\partial \tilde{\alpha}] \in H^{k+1}(\mathcal{F}')$. It can be shown that this is independent of the choices.

2.2. Yoneda Extensions. For any coherent sheaves \mathcal{F} and \mathcal{K} , elements in the group $\text{Ext}^p(\mathcal{K}, \mathcal{F})$ for $p \geq 1$ can be interpreted as Yoneda extensions of length p of the form

$$(1) \quad 0 \rightarrow \mathcal{F} \rightarrow \mathcal{P}'_1 \rightarrow \dots \rightarrow \mathcal{P}'_p \rightarrow \mathcal{K} \rightarrow 0$$

For our purposes, we will be interested in extensions where \mathcal{K} is a vector bundle. In this situation, we will show that we can restrict our attention to extensions where the \mathcal{P}'_i are vector bundles for $i = 2, \dots, p$.

We use induction on p . Let \mathcal{K} be any vector bundle. The base case $p = 1$ is obvious. Assume it is true for $p-1$. Since X is quasi-projective, $\mathcal{K}(a)$ is generated by global sections for $a \gg 0$. Thus we get a short exact sequence of vector bundles

$$0 \rightarrow \mathcal{K}' \rightarrow \mathcal{P}_p \rightarrow \mathcal{K} \rightarrow 0$$

where \mathcal{P}_p is sum of very negative line bundles. As a result we have $\text{Ext}^j(\mathcal{P}_p, \mathcal{F}) = 0$ for $j \geq 1$. Via the associated long exact sequence of the Ext groups, one has $\text{Ext}^{p-1}(\mathcal{K}', \mathcal{F}) \xrightarrow{\cong} \text{Ext}^p(\mathcal{K}, \mathcal{F})$ where the image of an element

$$0 \rightarrow \mathcal{F} \rightarrow \mathcal{P}_1 \rightarrow \dots \rightarrow \mathcal{P}_{p-1} \rightarrow \mathcal{K}' \rightarrow 0$$

in $\text{Ext}^{p-1}(\mathcal{K}, \mathcal{F})$ is obtained by splicing as

$$0 \rightarrow \mathcal{F} \rightarrow \mathcal{P}_1 \rightarrow \cdots \rightarrow \mathcal{P}_p \rightarrow \mathcal{K} \rightarrow 0$$

By induction, \mathcal{P}_i is a vector bundle for $i = 2, \dots, p-1$ and hence for $i = 2, \dots, p$.

Lemma 1. *Given $\alpha \in \text{H}^p(X, \mathcal{F})$ for $p \geq 1$, there exists a short exact sequence*

$$(2) \quad 0 \rightarrow \mathcal{F} \rightarrow \mathcal{P}_\alpha \rightarrow \mathcal{Q}_\alpha \rightarrow 0$$

satisfying

- (1) *There exists an element $\alpha' \in \text{H}^{p-1}(X, \mathcal{Q}_\alpha)$ which maps to $\alpha \in \text{H}^p(X, \mathcal{F})$*
- (2) *For any coherent sheaf \mathcal{G} , the sequence above remains exact on tensoring with \mathcal{G} .*

Proof. There is an isomorphism $\text{H}^p(X, \mathcal{F}) \rightarrow \text{Ext}^p(\mathcal{O}_X, \mathcal{F})$ under which the element $\alpha \in \text{H}^p(X, \mathcal{F})$ is associated to an extension

$$0 \rightarrow \mathcal{F} \rightarrow \mathcal{P}_1 \rightarrow \cdots \rightarrow \mathcal{P}_p \rightarrow \mathcal{O}_X \rightarrow 0$$

Further, the element $1 \in \text{H}^0(X, \mathcal{O}_X)$ maps to $\alpha \in \text{H}^p(X, \mathcal{F})$ via the various connecting homomorphisms. Since we may choose \mathcal{P}_i for $i = 2, \dots, p$ to be vector bundles, we get a short exact sequence by choosing $\mathcal{P}_\alpha = \mathcal{P}_1$ and \mathcal{Q}_α as the kernel of the map $\mathcal{P}_2 \rightarrow \mathcal{P}_3$. It is clear that $1 \in \text{H}^0(X, \mathcal{O}_X)$ maps to an element $\alpha' \in \text{H}^{p-1}(X, \mathcal{Q}_\alpha)$ which in turn maps to $\alpha \in \text{H}^p(X, \mathcal{F})$. This proves (1) above. For (2), we note that since \mathcal{Q}_α is a vector bundle, this implies that the sequence in (1) is locally split and so remains exact on tensoring with \mathcal{G} . \square

2.3. Cup products. Let $\alpha \in \text{H}^p(X, \mathcal{F})$ and $\beta \in \text{H}^q(X, \mathcal{G})$. We define $\alpha \cup \beta \in \text{H}^{p+q}(X, \mathcal{F} \otimes \mathcal{G})$ as follows:

Let $\tilde{\alpha}$ and $\tilde{\beta}$ be cocycle representatives of α and β respectively. Then define $\tilde{\alpha} \cup \tilde{\beta}(i_0, \dots, i_p, i_{p+1}, \dots, i_{p+q}) := \tilde{\alpha}(i_0, \dots, i_p) \otimes \tilde{\beta}(i_p, \dots, i_{p+q})$

Lemma 2. *$\tilde{\alpha} \cup \tilde{\beta}$ is a cocycle.*

Proof.

$$\begin{aligned} \partial(\tilde{\alpha} \cup \tilde{\beta})(i_0, \dots, i_{p+q+1}) &= \sum_{j=0}^{p+q+1} (-1)^j \tilde{\alpha} \cup \tilde{\beta}(i_0, \dots, \hat{i}_j, \dots, i_{p+q+1}) \\ &= \left(\sum_{j=0}^p (-1)^j \tilde{\alpha}(i_0, \dots, \hat{i}_j, \dots, i_{p+1}) \right) \otimes \tilde{\beta}(i_{p+1}, \dots, i_{p+q+1}) \end{aligned}$$

$$\begin{aligned}
 & +\tilde{\alpha}(i_0, \dots, i_p) \left(\sum_{j=p+1}^{p+q+1} (-1)^j \tilde{\beta}(i_p, \dots, \hat{i}_j, \dots, i_{p+q+1}) \right) \\
 & = (-1)^p \tilde{\alpha}(i_0, \dots, i_p) \otimes \tilde{\beta}(i_{p+1}, \dots, i_{p+q+1}) \\
 & + (-1)^{p+1} \tilde{\alpha}(i_0, \dots, i_p) \otimes \tilde{\beta}(i_{p+1}, \dots, i_{p+q+1}) = 0
 \end{aligned}$$

□

To check that $\alpha \cup \beta$ is well defined is standard and we leave it to the reader. Furthermore, for morphisms $\mathcal{F} \rightarrow \mathcal{F}'$ and $\mathcal{G} \rightarrow \mathcal{G}'$, it is obvious that if α, β are elements in the cohomologies of \mathcal{F} and \mathcal{G} with images α' and β' , then $\alpha' \cup \beta'$ is the image of $\alpha \cup \beta$.

The isomorphism $(\mathcal{F} \otimes \mathcal{G}) \otimes \mathcal{H} \cong \mathcal{F} \otimes (\mathcal{G} \otimes \mathcal{H})$ which defines associativity of tensor products induces an isomorphism

$$\mathrm{H}^{p+q+r}(X, (\mathcal{F} \otimes \mathcal{G}) \otimes \mathcal{H}) \cong \mathrm{H}^{p+q+r}(X, \mathcal{F} \otimes (\mathcal{G} \otimes \mathcal{H}))$$

under which it is obvious that $(\alpha \cup \beta) \cup \gamma \mapsto \alpha \cup (\beta \cup \gamma)$. In other words, cup product is an associative operation.

Now let $\alpha \in \mathrm{H}^p(X, \mathcal{F})$ and $\beta \in \mathrm{H}^q(X, \mathcal{G})$. Then one has the following two sequences from Lemma (1):

$$(3) \quad 0 \rightarrow \mathcal{F} \otimes \mathcal{G} \rightarrow \mathcal{P}_\alpha \otimes \mathcal{G} \rightarrow \mathcal{Q}_\alpha \otimes \mathcal{G} \rightarrow 0$$

$$(4) \quad 0 \rightarrow \mathcal{F} \otimes \mathcal{G} \rightarrow \mathcal{F} \otimes \mathcal{P}_\beta \rightarrow \mathcal{F} \otimes \mathcal{Q}_\beta \rightarrow 0$$

Lemma 3. *Let $\alpha_0 \in \mathrm{H}^{p-1}(X, \mathcal{Q}_\alpha)$ be a pre-image of α i.e., $\delta\alpha_0 = \alpha$. Then $\alpha \cup \beta = \delta(\alpha_0 \cup \beta)$ where δ is the connecting homomorphism in (3).*

Proof. By definition,

$$\alpha_0 \cup \beta = \alpha_0(i_0, \dots, i_p) \otimes \beta(i_p, \dots, i_{p+q}) = \tilde{\alpha}_0(i_0, \dots, i_p) \otimes \beta(i_p, \dots, i_{p+q})$$

On the other hand,

$$\begin{aligned}
 & \delta(\alpha_0 \cup \beta)(i_0, \dots, i_{p+q+1}) \\
 & = [\delta\alpha_0(i_0, \dots, i_{p+1}) + (-1)^p \tilde{\alpha}_0(i_0, \dots, i_p)] \otimes \beta(i_{p+1}, \dots, i_{p+q+1}) \\
 & \quad + (-1)^{p+1} \tilde{\alpha}_0(i_0, \dots, i_p) \otimes \beta(i_{p+1}, \dots, i_{p+q+1}) \\
 & = \partial\tilde{\alpha}_0(i_0, \dots, i_{p+1}) \otimes \beta(i_{p+1}, \dots, i_{p+q+1}) \\
 & = \delta\alpha \cup \beta(i_0, \dots, i_{p+q+1})
 \end{aligned}$$

□

Lemma 4. *Let $\beta_0 \in H^{q-1}(X, \mathcal{Q}_\beta)$ such that $\delta\beta_0 = \beta$. Then $\alpha \cup \beta = (-1)^p \delta(\alpha \cup \beta_0)$ where δ is the connecting homomorphism in (4).*

Proof. Let $\tilde{\beta}_0$ be a local lift to the sheaf \mathcal{P}_β . Then $\delta(\alpha \cup \beta_0)$

$$\begin{aligned}
& (-1)^p \alpha(i_0, \dots, i_p) \otimes \tilde{\beta}(i_{p+1}, \dots, i_{p+q+1}) \\
= & \quad \quad \quad + \\
& (-1)^p \alpha(i_0, \dots, i_p) \otimes [\tilde{\beta}_0(i_{p+1}, \dots, i_{p+q+1}) - \delta\tilde{\beta}_0(i_p, \dots, i_{p+q+1})] \\
= & \quad \quad \quad (-1)^p \alpha(i_0, \dots, i_p) \otimes \partial\tilde{\beta}_0(i_p, \dots, i_{p+q+1}) \\
= & \quad \quad \quad (-1)^p (\alpha \cup \delta\beta)(i_0, \dots, i_{p+q+1})
\end{aligned}$$

□

Lemma 5. *Let $\psi : \mathcal{F} \otimes \mathcal{G} \rightarrow \mathcal{G} \otimes \mathcal{F}$ be the obvious map. For $\alpha \in H^p(\mathcal{F})$ and $\beta \in H^q(\mathcal{G})$,*

$$\psi(\beta \cup \alpha) = (-1)^{pq} \alpha \cup \beta$$

Proof. The proof is by induction on q . When $q = 0$, we have the following commutative diagram

$$\begin{array}{ccc}
\mathcal{F} \otimes H^0(X, \mathcal{G}) & \xrightarrow{\psi} & H^0(X, \mathcal{G}) \otimes \mathcal{F} \\
\downarrow \text{id} \otimes \text{ev} & & \text{ev} \otimes \text{id} \downarrow \\
\mathcal{F} \otimes \mathcal{G} & \xrightarrow{\psi} & \mathcal{G} \otimes \mathcal{F}
\end{array}$$

Here $\text{ev} : H^0(X, \mathcal{G}) \otimes \mathcal{O}_X \rightarrow \mathcal{G}$ is the evaluation map and id is the identity map. Taking cohomology we see that the image $\text{ev} \otimes \text{id}(\alpha \cup \beta) = \alpha \cup \beta$. The commutativity of the diagram then yields $\psi(\alpha \cup \beta) = \beta \cup \alpha$.

We now prove the statement for arbitrary $\beta \in H^q(X, \mathcal{G})$. For each such β , we have a commuting diagram

$$\begin{array}{ccccccc}
0 & \rightarrow & \mathcal{G} \otimes \mathcal{F} & \rightarrow & \mathcal{P}_\beta \otimes \mathcal{F} & \rightarrow & \mathcal{Q}_\beta \otimes \mathcal{F} \rightarrow 0 \\
& & \downarrow \psi & & \downarrow \psi & & \downarrow \psi \\
0 & \rightarrow & \mathcal{F} \otimes \mathcal{G} & \rightarrow & \mathcal{F} \otimes \mathcal{P}_\beta & \rightarrow & \mathcal{F} \otimes \mathcal{Q}_\beta \rightarrow 0
\end{array}$$

Assume statement is true for $q' = q - 1$ i.e. $\psi(\beta' \cup \alpha) = (-1)^{pq'} \alpha \cup \beta'$. Let $\beta' \in H^{q-1}(X, \mathcal{Q}_\beta)$ such that $\delta(\beta') = \beta$. Then we have $\delta\psi(\beta' \cup \alpha) = (-1)^{pq'} \delta(\alpha \cup \beta')$. Since δ commutes with ψ , the left hand side in the statement of the Lemma is

$$\begin{aligned}
\psi(\beta \cup \alpha) &= \psi(\delta(\beta') \cup \alpha) = \psi\delta(\beta' \cup \alpha) = \delta\psi(\beta' \cup \alpha) = \delta((-1)^{pq'} \alpha \cup \beta') \\
&= (-1)^{pq'} (-1)^p (\alpha \cup \beta) = (-1)^{pq} (\alpha \cup \beta)
\end{aligned}$$

□

2.4. Leray maps. Let $f : Y \rightarrow X$ be a morphism of quasi-projective schemes. There are homomorphisms called Leray maps

$$\ell^p : H^p(X, \mathcal{F}) \rightarrow H^p(Y, f^*\mathcal{F})$$

which are defined as follows. Let $\mathfrak{U} = \{U_i\}$ and $\mathfrak{V} = \{V_{ij}\}$ be affine covers of X and Y respectively where $f^{-1}U_i := \bigcup_j V_{ij}$ so that \mathfrak{V} is a refinement of $f^{-1}\mathfrak{U}$ and is given the lexicographic ordering induced by the ordering on \mathfrak{U} . There are maps f^*

$$\Gamma(U_i, \mathcal{F}) \rightarrow \Gamma(f^{-1}U_i, f^*\mathcal{F}) \rightarrow \Gamma(V_{ij}, f^*\mathcal{F})$$

which induce a map f^* of Čech complexes

$$\mathcal{C}^\bullet(\mathfrak{U}, \mathcal{F}) \rightarrow \mathcal{C}^\bullet(f^{-1}\mathfrak{U}, f^*\mathcal{F}) \rightarrow \mathcal{C}^\bullet(\mathfrak{V}, f^*\mathcal{F})$$

These in turn induce maps

$$H^p(X, \mathcal{F}) \cong H_{\mathfrak{U}}^p(X, \mathcal{F}) \rightarrow H_{f^{-1}\mathfrak{U}}^p(Y, f^*\mathcal{F}) \rightarrow H_{\mathfrak{V}}^p(Y, f^*\mathcal{F}) \cong H^p(Y, f^*\mathcal{F})$$

which are the Leray maps ℓ^p .

Lemma 6 (Commutativity of the Leray maps with cup products). *Let $f : Y \rightarrow X$ be a morphism and \mathcal{F}, \mathcal{G} be sheaves on X . Then given $\alpha \in H^p(X, \mathcal{F})$ and $\beta \in H^q(X, \mathcal{G})$, we have*

$$\ell^p(\alpha) \cup \ell^q(\beta) = \ell^{p+q}(\alpha \cup \beta) \in H^{p+q}(Y, f^*\mathcal{F} \otimes f^*\mathcal{G})$$

Proof. Let $\tilde{\alpha}$ (resp. $\tilde{\beta}$) be a cocycle representing the class α (resp. β). Then $f^*\tilde{\alpha}$ is the image of $\tilde{\alpha}$ under the map $\mathcal{C}^p(\mathfrak{U}, \mathcal{F}) \rightarrow \mathcal{C}^p(\mathfrak{V}, f^*\mathcal{F})$. For any affine open set U which is an appropriate intersection of U_i 's, let V be an appropriate intersection V_{ij} 's. Under the natural map

$$\begin{aligned} \Gamma(U, \mathcal{F} \otimes \mathcal{G}) &\rightarrow \Gamma(f^{-1}U, f^*\mathcal{F} \otimes f^*\mathcal{G}) \rightarrow \Gamma(V, f^*\mathcal{F} \otimes f^*\mathcal{G}) \\ \tilde{\alpha} \otimes \tilde{\beta} &\mapsto f^*(\tilde{\alpha} \otimes \tilde{\beta}) = f^*(\tilde{\alpha}) \otimes f^*(\tilde{\beta}) \end{aligned}$$

The result now follows from the definition of cup products. \square

2.5. Exterior powers. Let $\alpha \in H^p(X, \overset{p}{\wedge} \mathcal{A})$ and $\beta \in H^q(X, \overset{q}{\wedge} \mathcal{A})$. The morphism

$$\psi : \overset{p}{\wedge} \mathcal{A} \otimes \overset{q}{\wedge} \mathcal{A} \rightarrow \overset{q}{\wedge} \mathcal{A} \otimes \overset{p}{\wedge} \mathcal{A}$$

descends to the map

$$\bar{\psi} : \overset{p+q}{\wedge} \mathcal{A} \rightarrow \overset{p+q}{\wedge} \mathcal{A}$$

which sends $a_1 \wedge \cdots \wedge a_{p+q} \mapsto a_{p+1} \wedge \cdots \wedge a_{p+q} \wedge a_1 \wedge \cdots \wedge a_p$

Clearly $\bar{\psi} = (-1)^{pq}$

Define $\alpha \wedge \beta$ to be $\pi(\alpha \cup \beta)$ where π is the projection

$$H^{p+q}(X, \overset{p}{\wedge} \mathcal{A} \otimes \overset{q}{\wedge} \mathcal{A}) \xrightarrow{\pi} H^{p+q}(X, \overset{p+q}{\wedge} \mathcal{A})$$

Lemma 7. For α, β as above, $\alpha \wedge \beta = \beta \wedge \alpha$.

Proof. $\pi\psi(\alpha \cup \beta) = \pi((-1)^{pq}\beta \cup \alpha) = (-1)^{pq}\beta \wedge \alpha$. Since $\pi\psi = \bar{\psi}\pi$, and $\bar{\psi}\pi(\alpha \cup \beta) = (-1)^{pq}\alpha \wedge \beta$ it follows then that $\alpha \wedge \beta = \beta \wedge \alpha$. \square

Remark 2. More generally, if $\sigma \in S_n$, the symmetric group and $\alpha_i \in H^{p_i}(X, \mathcal{A}_i)$, one has $\bigwedge_{i=1}^n \alpha_i = \bigwedge_{i=1}^n \alpha_{\sigma(i)}$

Taking \mathcal{A} to be Ω_X^1 , the sheaf of Kähler differentials, we have

Proposition 1. $\bigoplus_{i=1}^n H^i(X, \Omega_X^i)$ is a graded commutative ring with wedge product for multiplication.

3. CHERN CLASSES

3.1. The Atiyah sequence. Let X be a quasi-projective scheme over K and $\mathcal{E} \rightarrow X$ be a vector bundle. Let $\Delta_X \hookrightarrow X \times X$ be the inclusion of the “diagonal” subscheme and let \mathcal{I} denote the ideal sheaf of Δ_X in $X \times X$ and \mathcal{X} denote the thickened diagonal given by \mathcal{I}^2 . Then $I := \mathcal{I}/\mathcal{I}^2$ is the ideal of Δ_X in \mathcal{X} . Let $p, q : \mathcal{X} \rightarrow X$ denote the two projections. One has the following natural exact sequence of $\mathcal{O}_{\mathcal{X}}$ -modules:

$$(5) \quad 0 \rightarrow I \rightarrow \mathcal{O}_{\mathcal{X}} \rightarrow \mathcal{O}_{\Delta_X} \rightarrow 0$$

The push forward sequence

$$(6) \quad 0 \rightarrow p_*I \rightarrow p_*\mathcal{O}_{\mathcal{X}} \rightarrow p_*\mathcal{O}_{\Delta_X} \rightarrow 0$$

splits. We remind the reader that the first term in the sequence p_*I is the sheaf of differentials Ω_X^1 . Note that the above sequence is also a sequence of \mathcal{O}_X -modules.

Tensoring (5) with $q^*\mathcal{E}$, we get

$$(7) \quad 0 \rightarrow I \otimes q^*\mathcal{E} \rightarrow \mathcal{O}_{\mathcal{X}} \otimes q^*\mathcal{E} \rightarrow \mathcal{O}_{\Delta} \otimes q^*\mathcal{E} \rightarrow 0$$

On taking direct image p_* , we get

$$(8) \quad 0 \rightarrow p_*(I \otimes q^*\mathcal{E}) \rightarrow p_*\mathcal{O}_{\mathcal{X}} \otimes q^*\mathcal{E} \rightarrow p_*\mathcal{O}_{\Delta} \otimes q^*\mathcal{E} \rightarrow 0$$

Here the right exactness follows from the fact that p is a finite map and hence has no higher direct images. Rewritten, (since $I \otimes q^*\mathcal{E} = I \otimes p^*\mathcal{E}$) this is the sequence

$$(9) \quad 0 \rightarrow \Omega_X^1 \otimes \mathcal{E} \rightarrow p_*q^*\mathcal{E} \rightarrow \mathcal{E} \rightarrow 0$$

which we shall refer to as the *Atiyah sequence* of \mathcal{E} . This sequence is locally split since \mathcal{E} is a vector bundle.

3.2. Naturality. Let $\mathcal{E} \rightarrow X$ be as above and $f : Y \rightarrow X$ be a morphism of quasi-projective schemes. The Atiyah sequence of \mathcal{E} pulls back to a sequence on Y

$$0 \rightarrow f^*\Omega_X^1 \otimes f^*\mathcal{E} \rightarrow f^*p_*q^*\mathcal{E} \rightarrow f^*\mathcal{E} \rightarrow 0$$

which remains exact since the Atiyah sequence is locally split.

The natural map $df : f^*\Omega_X^1 \rightarrow \Omega_Y^1$ which we define below induces a push-out diagram

$$(10) \quad \begin{array}{ccccccc} 0 & \rightarrow & f^*\Omega_X^1 \otimes f^*\mathcal{E} & \rightarrow & f^*p_*q^*\mathcal{E} & \rightarrow & f^*\mathcal{E} \rightarrow 0 \\ & & \downarrow df \otimes 1 & & \downarrow & & \parallel \\ 0 & \rightarrow & \Omega_Y^1 \otimes f^*\mathcal{E} & \rightarrow & \mathcal{P} & \rightarrow & f^*\mathcal{E} \rightarrow 0 \end{array}$$

The claim of naturality is that the bottom horizontal sequence in (10) is indeed the Atiyah sequence of $f^*\mathcal{E}$.

To see this, consider $f \times f : Y \times Y \rightarrow X \times X$ which induces a map $F : \mathcal{Y} \rightarrow \mathcal{X}$ where \mathcal{Y} is defined as a thickening of Δ_Y and let p', q' denote the projections of $\mathcal{Y} \rightarrow Y$. One has a diagram with commuting squares:

$$\begin{array}{ccccc} \Delta_Y & \hookrightarrow & \mathcal{Y} & \xrightarrow{p', q'} & Y \\ \downarrow f & & \downarrow F & & \downarrow f \\ \Delta_X & \hookrightarrow & \mathcal{X} & \xrightarrow{p, q} & X \end{array}$$

The commutativity of the above diagram defines a morphism of functors

$$\alpha : f^*p_* \rightarrow p'_*F^*$$

Let \tilde{I} denote the ideal sheaf of $\Delta_Y \hookrightarrow \mathcal{Y}$. Then the composite

$$f^*p_*I \xrightarrow{\alpha} p'_*F^*I \rightarrow p'_*\tilde{I}$$

defines the natural (differentiation) map $df : f^*\Omega_X^1 \rightarrow \Omega_Y^1$.

The morphism α when applied to the sequence (7) induces a morphism of sequences

$$(11) \quad \begin{array}{ccccccc} 0 & \rightarrow & f^*p_*(I \otimes q^*\mathcal{E}) & \rightarrow & f^*p_*q^*\mathcal{E} & \rightarrow & f^*p_*(\mathcal{O}_{\Delta_X}) \otimes q^*\mathcal{E} \rightarrow 0 \\ & & \downarrow \xi & & \downarrow & & \parallel \\ & \rightarrow & p'_*F^*(I \otimes q^*\mathcal{E}) & \rightarrow & p'_*F^*q^*\mathcal{E} & \rightarrow & p'_*F^*(\mathcal{O}_{\Delta_X} \otimes q^*\mathcal{E}) \rightarrow 0 \\ & & \downarrow \kappa & & \parallel & & \downarrow \omega \\ 0 & \rightarrow & p'_*(\tilde{I} \otimes q^*f^*\mathcal{E}) & \rightarrow & p'_*F^*q^*\mathcal{E} & \rightarrow & p'_*(\mathcal{O}_{\Delta_Y}) \otimes F^*q^*\mathcal{E} \rightarrow 0 \end{array}$$

Here the map ω above is a surjection induced by the surjection $F^*\mathcal{O}_{\Delta_X} \rightarrow \mathcal{O}_{\Delta_Y}$.

We first explain the composition $\kappa \circ \xi$:

$$\begin{array}{ccccc}
f^*p_*(I \otimes_{\mathcal{O}_X} q^*\mathcal{E}) & = & f^*p_*(I \otimes_{\mathcal{O}_X} p^*\mathcal{E}) & = & f^*p_*I \otimes_{\mathcal{O}_Y} f^*\mathcal{E} \\
\downarrow \xi & & \downarrow & & \downarrow \alpha \otimes 1 \\
p'_*F^*(I \otimes_{\mathcal{O}_X} q^*\mathcal{E}) & = & p'_*(F^*I \otimes_{\mathcal{O}_X} F^*q^*\mathcal{E}) & = & p'_*F^*I \otimes_{\mathcal{O}_Y} f^*\mathcal{E} \\
\downarrow \kappa & & \downarrow & & \downarrow \\
p'_*(\tilde{I} \otimes_{\mathcal{O}_Y} q'^*f^*\mathcal{E}) & = & p'_*(\tilde{I} \otimes_{\mathcal{O}_Y} p'^*f^*\mathcal{E}) & = & p'_*\tilde{I} \otimes_{\mathcal{O}_Y} f^*\mathcal{E}
\end{array}$$

Thus $\kappa \circ \xi$ is just the map $\text{df} \otimes 1$. This completes a proof of the claim.

3.3. Atiyah class. The Atiyah sequence (7) of \mathcal{E} defines an element in the extension group $\text{Ext}^1(\mathcal{E}, \Omega_X^1 \otimes \mathcal{E}) \cong H^1(X, \Omega_X^1 \otimes \text{End } \mathcal{E})$. We refer to this class as the *Atiyah class* $\text{at}(\mathcal{E})$.

Equivalently, the class $\text{at}(\mathcal{E})$ can be defined as follows:

Tensoring the Atiyah sequence (7) with \mathcal{E}^\vee yields

$$(12) \quad 0 \rightarrow \Omega_X^1 \otimes \mathcal{E} \otimes \mathcal{E}^\vee \rightarrow p_*q^*\mathcal{E} \otimes \mathcal{E}^\vee \rightarrow \mathcal{E} \otimes \mathcal{E}^\vee \rightarrow 0$$

The natural inclusion $\mathcal{O}_X \hookrightarrow \mathcal{E} \otimes \mathcal{E}^\vee$ gives rise to a pull-back sequence:

$$(13) \quad 0 \rightarrow \Omega_X^1 \otimes \mathcal{E} \otimes \mathcal{E}^\vee \rightarrow \mathcal{B} \rightarrow \mathcal{O}_X \rightarrow 0$$

Then under the coboundary map

$$\begin{array}{ccc}
H^0(X, \mathcal{O}_X) & \rightarrow & H^1(X, \Omega_X^1 \otimes \mathcal{E} \otimes \mathcal{E}^\vee) \\
1 & \mapsto & \text{at}(\mathcal{E})
\end{array}$$

It is convenient to have the following definition: Let $f : Y \rightarrow X$ be a morphism and \mathcal{F} be any sheaf on X . Then there are maps

$$f^* : H^p(X, \mathcal{F} \otimes \Omega_X^1 \otimes^{\otimes q}) \rightarrow H^p(Y, f^*\mathcal{F} \otimes \Omega_Y^1 \otimes^{\otimes q})$$

(defined as the composite of the two maps $\ell^p : H^p(X, \mathcal{F} \otimes \Omega_X^1 \otimes^{\otimes q}) \rightarrow H^p(Y, f^*\mathcal{F} \otimes f^*\Omega_X^1 \otimes^{\otimes q})$ and $\otimes^q df : H^p(Y, f^*\mathcal{F} \otimes f^*\Omega_X^1 \otimes^{\otimes q}) \rightarrow H^p(Y, f^*\mathcal{F} \otimes \Omega_Y^1 \otimes^{\otimes q})$)

$$\text{and} \quad f^* : H^p(X, \mathcal{F} \otimes \Omega_X^q) \rightarrow H^p(Y, f^*\mathcal{F} \otimes \Omega_Y^q)$$

(defined similarly).

With these definitions, we have

Lemma 8. $f^* \text{at}(\mathcal{E}) = \text{at}(f^*\mathcal{E}) \in H^1(Y, \text{End } f^*\mathcal{E} \otimes \Omega_Y^1)$

Proof. From the discussion in section 3.2 and diagram (13), we have a commutative diagram

$$\begin{array}{ccccccc}
0 & \rightarrow & f^*\mathcal{E} \otimes f^*\mathcal{E}^\vee \otimes f^*\Omega_X^1 & \rightarrow & f^*\mathcal{B} & \rightarrow & \mathcal{O}_Y \rightarrow 0 \\
& & \downarrow & & \downarrow & & \parallel \\
0 & \rightarrow & f^*\mathcal{E} \otimes f^*\mathcal{E}^\vee \otimes \Omega_Y^1 & \rightarrow & \mathcal{B} & \rightarrow & \mathcal{O}_Y \rightarrow 0
\end{array}$$

This induces the following diagram at the level of cohomology:

$$\begin{array}{ccc}
H^0(\mathcal{O}_X) & \rightarrow & H^1(X, \Omega_X^1 \otimes \mathcal{E} \otimes \mathcal{E}^\vee) \\
\downarrow & & \downarrow \\
H^0(\mathcal{O}_Y) & \rightarrow & H^1(Y, f^*\Omega_X^1 \otimes f^*\mathcal{E} \otimes f^*\mathcal{E}^\vee) \\
\downarrow & & \downarrow \\
H^0(\mathcal{O}_Y) & \rightarrow & H^1(Y, \Omega_Y^1 \otimes f^*\mathcal{E} \otimes f^*\mathcal{E}^\vee)
\end{array}$$

Here the horizontal arrows are boundary maps which map the identity element to the Atiyah class of the respective vector bundles and the vertical arrows between the cohomology on X and Y are the Leray maps. It is elementary to check that the commutativity of the diagram implies $f^* \text{at}(\mathcal{E}) = \text{at}(f^*\mathcal{E})$. \square

Proposition 2. *With notation as above,*

$$f^*(\text{at}(\mathcal{E})^{\cup k}) = \text{at}(f^*\mathcal{E})^{\cup k}$$

Proof. This follows since cup products commute with morphisms and Leray maps (Lemma 6). \square

3.4. Atiyah Class of a Line bundle. Let \mathcal{L} be a line bundle on X . We shall now explicitly describe the Atiyah class $\text{at}(\mathcal{L})$.

Let $\{U_i\}$ be a trivialising affine open cover for \mathcal{L} . Then $\mathcal{L}_{U_i} \cong \mathcal{O}_{U_i} e_i$ where e_i is a basis vector. On the intersection $U_{ij} := U_i \cap U_j$, $e_i = \alpha_{ij} e_j$, $\alpha_{ij} \in \Gamma(U_{ij}, \mathcal{O}_X^*)$ and this defines an element $\eta := \{\alpha_{ij}\} \in H^1(X, \mathcal{O}_X^*)$. Similarly one has $\mathcal{L}_{U_i}^{-1} \cong \mathcal{O}_{U_i} f_i$ where $f_i = \alpha_{ij}^{-1} f_j$. Furthermore, the isomorphism $\mathcal{L} \otimes \mathcal{L}^{-1} \cong \mathcal{O}_X$ is given locally by sending by $e_i \otimes f_i \mapsto 1$. Let $\{\mathcal{U}_i\}$ be a trivialising cover for $p^*\mathcal{L}$ with basis $\{e_{ij}\}$ and transition function $\{p(\alpha_{ij})\}$. Then on each \mathcal{U}_i , the element 1 has local lifts given by $e_i \otimes f_i$ in $p^*\mathcal{L} \otimes_{\mathcal{O}_X} q^*\mathcal{L}^{-1}$. Thus on the intersection $\mathcal{U}_{ij} := \mathcal{U}_i \cap \mathcal{U}_j$, the element

$$\begin{aligned}
e_i \otimes f_i - e_j \otimes f_j &= p(\alpha_{ij}) e_j \otimes q(\alpha_{ij}^{-1}) f_j - e_j \otimes f_j = p(\alpha_{ij}) q(\alpha_{ij}^{-1}) e_j \otimes f_j - e_j \otimes f_j \\
&= [p(\alpha_{ij}) \cdot q(\alpha_{ij}^{-1}) - 1] e_j \otimes f_j \text{ defines a 1-cocycle for } I \otimes_{\mathcal{O}_X} p^*\mathcal{L} \otimes q^*\mathcal{L}^{-1} \cong \\
&I \otimes_{\mathcal{O}_\Delta} p^*\mathcal{L} \otimes q^*\mathcal{L}^{-1} \cong I. \text{ Here the last isomorphism is effected by sending } \\
&e_j \otimes f_j \mapsto 1 \text{ on } U_j.
\end{aligned}$$

On the other hand, $[p(\alpha_{ij}) \cdot q(\alpha_{ij}^{-1}) - 1] = q(\alpha_{ij}^{-1}) [p(\alpha_{ij}) - q(\alpha_{ij})] =: -q(\alpha_{ij}^{-1}) d(\alpha_{ij})$ (following the definition of $d(\alpha_{ij})$ as in [4] Prop. 8.1A page 173). Viewing $I \cong \Omega_X^1$ as an \mathcal{O}_X -module, we see that the last term is just $\alpha_{ij}^{-1} d(\alpha_{ij}) = \text{dlog}(\alpha_{ij})$.

Summarizing, we see that $1 \in H^0(X, \mathcal{O}_X)$ maps onto the cocycle

$$1 \otimes 1 - \alpha_{ij}^{-1} \otimes \alpha_{ij} = \alpha_{ij}^{-1} (\alpha_{ij} \otimes 1 - 1 \otimes \alpha_{ij}) = -\alpha_{ij}^{-1} d\alpha_{ij} = -\text{dlog}(\alpha_{ij})$$

in $\Omega_X^1|_{U_{ij}}$ and thus we see that the $1 \mapsto \text{at}(\mathcal{L}) = -[\text{dlog} \alpha_{ij}] \in H^1(X, \Omega_X^1)$

3.5. Definitions of Chern Classes. Henceforth we shall restrict our attention to schemes defined over a field K . We will assume $\text{char } K = 0$ or arbitrarily large.

As seen in the previous section, cup product yields elements

$$(\text{at } \mathcal{E})^{\cup k} \in H^k(X, (\mathcal{E}nd \mathcal{E} \otimes \Omega_X^1)^{\otimes k})$$

There exists a map $\phi_k = \phi_k(\mathcal{E}, \Omega_X^1) : (\mathcal{E}nd \mathcal{E} \otimes \Omega_X^1)^{\otimes k} \rightarrow \Omega_X^k$ which we describe in detail below. Let $\pi : \mathcal{E}^{\otimes k} \rightarrow \bigwedge^k \mathcal{E}$ be the projection. Since $(\bigwedge^k \mathcal{E})^\vee \cong \bigwedge^k \mathcal{E}^\vee$, there is a standard inclusion $j : \bigwedge^k \mathcal{E} \rightarrow \mathcal{E}^{\otimes k}$ which when composed with π is multiplication by $k!$ on $\bigwedge^k \mathcal{E}$. Define the map λ_k from

$$(\mathcal{E}nd \mathcal{E} \otimes \Omega_X^1)^{\otimes k} = \mathcal{H}om(\mathcal{E}^{\otimes k}, \mathcal{E}^{\otimes k} \otimes \Omega_X^{1 \otimes k}) \rightarrow \mathcal{H}om(\bigwedge^k \mathcal{E}, \bigwedge^k \mathcal{E} \otimes \Omega_X^{1 \otimes k})$$

given by $\lambda_k(f) = (\pi \otimes 1) \circ f \circ j$.

The symmetric group S_k acts on $(\mathcal{E}nd \mathcal{E} \otimes \Omega_X^1)^{\otimes k}$ via $\sigma(f) = \sigma \circ f \circ \sigma^{-1}$ where σ is a permutation of the k copies and on $\mathcal{H}om(\bigwedge^k \mathcal{E}, \bigwedge^k \mathcal{E} \otimes \Omega_X^{1 \otimes k})$ via $\sigma(g) = (1 \otimes \sigma) \circ g$. For these actions λ_k is equivariant.

The trace map $tr_k : \mathcal{H}om(\bigwedge^k \mathcal{E}, \bigwedge^k \mathcal{E}) \rightarrow \mathcal{O}_X$ and the projection $p : \Omega_X^{1 \otimes k} \rightarrow \Omega_X^k$ combine to give $\phi_k = (tr_k \otimes p) \circ \lambda_k$.

More generally, given the bundle \mathcal{E} and any sheaf \mathcal{F} we can similarly define $\phi_k(\mathcal{E}, \mathcal{F}) : (\mathcal{E}nd(\mathcal{E}) \otimes \mathcal{F})^{\otimes k} \rightarrow \bigwedge^k \mathcal{F}$. It is easy to see that for any morphism $\mu : \mathcal{F} \rightarrow \mathcal{G}$, there is a commutative diagram

$$\begin{array}{ccc} (\mathcal{E}nd(\mathcal{E}) \otimes \mathcal{F})^{\otimes k} & \xrightarrow{\phi_k(\mathcal{E}, \mathcal{F})} & \bigwedge^k \mathcal{F} \\ \downarrow (1 \otimes \mu)^{\otimes k} & & \downarrow \bigwedge^k \mu \\ (\mathcal{E}nd(\mathcal{E}) \otimes \mathcal{G})^{\otimes k} & \xrightarrow{\phi_k(\mathcal{E}, \mathcal{G})} & \bigwedge^k \mathcal{G} \end{array}$$

In the particular case when $\mathcal{F} = \mathcal{O}_X$, the map $\phi_k(\mathcal{E}, \mathcal{O}_X)$ factors through $\text{Sym}^k(\mathcal{E}nd(\mathcal{E}))$ and can be viewed as a symmetric multilinear form giving the “ k -th coefficient of the characteristic polynomial” (see [2, 1]). Our description of ϕ_k can be found in [5].

Definition 2. The k -th Chern class of \mathcal{E}

$$c_k(\mathcal{E}) := \frac{(-1)^k}{k!} \phi_k(\text{at}(\mathcal{E})^{\cup k}) \in H^k(X, \Omega_X^k)$$

We make the following comments:

- (1) We define $c_0(\mathcal{E}) := 1$.
- (2) For $k > \dim X$, we have $c_k(\mathcal{E}) = 0$.
- (3) For $k > \text{rank}(\mathcal{E})$, we have $c_k(\mathcal{E}) = 0$.

Proposition 3. For $f : Y \rightarrow X$ and \mathcal{E} a bundle on X , $f^* c_k(\mathcal{E}) = c_k(f^* \mathcal{E})$.

Proof. Recall that we defined the map f^* in section 3.3. The first step is to notice that $f^* \phi_k(\mathcal{E}, \Omega_X^1) = \phi_k(f^* \mathcal{E}, f^* \Omega_X^1)$. Next, using the fact that Leray maps are functorial and that $\phi_k(f^* \mathcal{E}, -)$ is functorial for the map $df : f^* \Omega_X^1 \rightarrow \Omega_Y^1$, we conclude that

$$f^* \phi_k(\mathcal{E}, \Omega_X^1)(\text{at}(\mathcal{E})^{\cup k}) = \phi_k(f^* \mathcal{E}, \Omega_Y^1)(f^* \text{at}(\mathcal{E})^{\cup k}).$$

Since $f^*(\text{at}(\mathcal{E})^{\cup k}) = \text{at}(f^* \mathcal{E})^{\cup k}$, we are done. \square

3.6. Whitney Sum formulae. We will now assume that the vector bundle \mathcal{E} is a direct sum; $\mathcal{E} = \mathcal{F} \oplus \mathcal{G}$. Then $\mathcal{E}nd(\mathcal{E}) \otimes \Omega_X^1$ has $\mathcal{E}nd(\mathcal{F}) \otimes \Omega_X^1$ and $\mathcal{E}nd(\mathcal{G}) \otimes \Omega_X^1$ as pieces of its direct sum decomposition. Let $\delta = \text{at}(\mathcal{E})$, $\delta_1 = \text{at}(\mathcal{F})$ and $\delta_2 = \text{at}(\mathcal{G})$. Via the natural inclusions, we can view δ , δ_1 and δ_2 as elements in $H^1(X, \mathcal{E}nd \mathcal{E} \otimes \Omega_X^1)$.

Lemma 9. $\text{at}(\mathcal{E}) = \text{at}(\mathcal{F}) + \text{at}(\mathcal{G})$

Proof. This follows easily from the observation that $p_* q^* \mathcal{E} = p_* q^* \mathcal{F} \oplus p_* q^* \mathcal{G}$ and hence the Atiyah sequence of \mathcal{E} is the direct sum of the Atiyah sequences of \mathcal{F} and \mathcal{G} . \square

Lemma 10. $c_k(\mathcal{E}) = \sum_{r=0}^k c_r(\mathcal{F}) c_{k-r}(\mathcal{G})$

Proof. Suppose $r, s \geq 0$ such that $r + s = k$. In the expansion of $\delta^{\cup k} = (\delta_1 + \delta_2)^{\cup k}$, there are $\binom{k}{r}$ terms involving r δ_1 's and s δ_2 's. Let d be one such cup product. Let σ be a permutation of $(\mathcal{E}nd(\mathcal{E}) \otimes \Omega_X^1)^{\otimes k}$ which moves the r δ_1 's of d to the first r positions. Let ψ_σ be the induced action on $H^k(X, \mathcal{E}nd(\mathcal{E}) \otimes \Omega_X^1)^{\otimes k}$. It follows from Lemma 5 that $\psi_\sigma(d) = \text{sgn}(\sigma)(\delta_1^{\cup r} \cup \delta_2^{\cup s})$.

We will now focus on the term $\delta_1^{\cup r} \cup \delta_2^{\cup s}$ which arises when we look at the obvious inclusion

$$(\mathcal{E}nd \mathcal{F} \otimes \Omega_X^1)^{\otimes r} \otimes (\mathcal{E}nd \mathcal{G} \otimes \Omega_X^1)^{\otimes s} \hookrightarrow (\mathcal{E}nd \mathcal{E} \otimes \Omega_X^1)^{\otimes k}$$

Consider the diagram

$$\begin{array}{ccc}
\mathcal{E}nd(\mathcal{F}^{\otimes r}) \otimes \Omega_X^{1 \otimes r} \otimes \mathcal{E}nd(\mathcal{G}^{\otimes s}) \otimes \Omega_X^{1 \otimes s} & \rightarrow & \mathcal{E}nd(\mathcal{E}^{\otimes k}) \otimes \Omega_X^{1 \otimes k} \\
\downarrow \lambda_r \otimes \lambda_s & & \downarrow \lambda_k \\
\mathcal{E}nd(\overset{r}{\wedge} \mathcal{F}) \otimes \Omega_X^{1 \otimes r} \otimes \mathcal{E}nd(\overset{s}{\wedge} \mathcal{G}) \otimes \Omega_X^{1 \otimes s} & \rightarrow & \mathcal{E}nd(\overset{k}{\wedge} \mathcal{E}) \otimes \Omega_X^{1 \otimes k} \\
tr_r \otimes 1 \downarrow \otimes tr_s \otimes 1 & & \downarrow tr_k \otimes 1 \\
\Omega_X^{1 \otimes r} \otimes \Omega_X^{1 \otimes s} & \rightarrow & \Omega_X^{1 \otimes k} \\
\downarrow p \otimes p & & \downarrow p \\
\Omega_X^r \otimes \Omega_X^s & \rightarrow & \Omega_X^k
\end{array}$$

The top square commutes because we have commuting diagrams

$$\begin{array}{ccc}
\mathcal{F}^{\otimes r} \otimes \mathcal{G}^{\otimes s} & \hookrightarrow & \mathcal{E}^{\otimes k} & \mathcal{F}^{\otimes r} \otimes \mathcal{G}^{\otimes s} & \leftarrow & \mathcal{E}^{\otimes k} \\
\downarrow \pi \otimes \pi & & \downarrow \pi & \uparrow j \otimes j & & \uparrow j \\
\overset{r}{\wedge} \mathcal{F} \otimes \overset{s}{\wedge} \mathcal{G} & \hookrightarrow & \overset{k}{\wedge} \mathcal{E} & \overset{r}{\wedge} \mathcal{F} \otimes \overset{s}{\wedge} \mathcal{G} & \leftarrow & \overset{k}{\wedge} \mathcal{E}
\end{array}$$

The middle square commutes because

$$\mathcal{E}nd(\overset{r}{\wedge} \mathcal{F}) \otimes \Omega_X^{1 \otimes r} \otimes \mathcal{E}nd(\overset{s}{\wedge} \mathcal{G}) \otimes \Omega_X^{1 \otimes s} \cong \mathcal{E}nd(\overset{r}{\wedge} \mathcal{F} \otimes \overset{s}{\wedge} \mathcal{G}) \otimes \Omega_X^{1 \otimes r} \otimes \Omega_X^{1 \otimes s}$$

where the ordered pair of two matrices maps to the tensor (or Krönerker) product of the two matrices and the trace of the Krönerker product of two matrices is the tensor product of the traces.

The commutativity of the third square is obvious.

Now consider the two elements $\delta_1^{\cup r} \in H^r(X, (\mathcal{E}nd \mathcal{F} \otimes \Omega_X^1)^{\otimes r})$ and $\delta_2^{\cup s} \in H^s(X, (\mathcal{E}nd \mathcal{G} \otimes \Omega_X^1)^{\otimes s})$. Since the image of the cup product equals the cup product of the images for the left vertical map of sheaves, $\delta_1^{\cup r} \cup \delta_2^{\cup s}$ maps to $\phi_r(\delta_1^{\cup r}) \cup \phi_s(\delta_2^{\cup s})$. Therefore viewing $\delta_1^{\cup r} \cup \delta_2^{\cup s}$ as an element in $H^k(X, (\mathcal{E}nd \mathcal{E} \otimes \Omega_X^1)^{\otimes k})$, $\phi_k(\delta_1^{\cup r} \cup \delta_2^{\cup s}) = \phi_r(\delta_1^{\cup r}) \wedge \phi_s(\delta_2^{\cup s})$.

The same argument as in Lemma 7 tells us that for any term d as above, $\phi_k(d) = \phi_k(\delta_1^{\cup r} \cup \delta_2^{\cup s})$ and therefore one has $\phi_k(\delta^{\cup k}) = \sum_{r=0}^k \binom{k}{r} \phi_r(\delta_1^{\cup r}) \wedge \phi_s(\delta_2^{\cup s})$. Thus we have $c_k(\mathcal{E}) = \sum_{r=0}^k c_r(\mathcal{F}) c_{k-r}(\mathcal{G})$ where the product in the expression is the commutative wedge product. \square

Proposition 4 (Whitney sum formula for exact sequences). *Let $0 \rightarrow \mathcal{E} \rightarrow \mathcal{V} \rightarrow \mathcal{F} \rightarrow 0$ be a sequence of bundles on X . Then*

$$c_k(\mathcal{V}) = c_k(\mathcal{E} \oplus \mathcal{F})$$

Proof. Let $\eta \in \text{Ext}^1(\mathcal{F}, \mathcal{E})$ denote the class of the exact sequence above and consider the affine line corresponding to the 1-dimensional vector subspace generated by η . Let $1 \in \mathbb{A}^1$ correspond to the extension η above and $0 \in \mathbb{A}^1$ correspond to the trivial extension

$$0 \rightarrow \mathcal{E} \rightarrow \mathcal{E} \oplus \mathcal{F} \rightarrow \mathcal{F} \rightarrow 0$$

Let $X \times \mathbb{A}^1 \xrightarrow{p} X$ and $X \times \mathbb{A}^1 \xrightarrow{q} \mathbb{A}^1$ be the projection maps and $X \times \{x\} \xrightarrow{\iota_x} X \times \mathbb{A}^1$ be the natural inclusion.

We have

$$\Omega_{X \times \mathbb{A}^1}^1 \cong p^* \Omega_X^1 \oplus q^* \Omega_{\mathbb{A}^1}^1 \cong p^* \Omega_X^1 \oplus q^* \mathcal{O}_{\mathbb{A}^1} \cdot dt$$

which on taking exterior powers yields

$$\Omega_{X \times \mathbb{A}^1}^k \cong p^* \Omega_X^k \oplus (p^* \Omega_X^{k-1} \otimes q^* \mathcal{O}_{\mathbb{A}^1} \cdot dt)$$

and so we have

$$(14) \quad \mathbb{H}^k(\Omega_{X \times \mathbb{A}^1}^k) \cong (\mathbb{H}^k(\Omega_X^k) \otimes k[t]) \oplus (\mathbb{H}^k(\Omega_X^{k-1}) \otimes k[t] dt)$$

The composite

$$\mathbb{H}^k(\Omega_X^k) \xrightarrow{p^*} \mathbb{H}^k(\Omega_{X \times \mathbb{A}^1}^k) \xrightarrow{\iota_x^*} \mathbb{H}^k(\Omega_X^k)$$

is the identity.

On \mathbb{A}^1 , we have the natural sequence

$$0 \rightarrow \mathcal{O}_{\mathbb{A}^1} \xrightarrow{\lambda} \mathcal{O}_{\mathbb{A}^1} \rightarrow \mathcal{O}_0 \rightarrow 0$$

which in turn induces a map

$$p^* \mathcal{F} \otimes q^* \mathcal{O}_{\mathbb{A}^1} \xrightarrow{id \otimes q^* \lambda} p^* \mathcal{F} \otimes q^* \mathcal{O}_{\mathbb{A}^1}$$

We rewrite this as

$$p^* \mathcal{F} \xrightarrow{\tilde{\lambda}} p^* \mathcal{F}$$

Let \mathbb{V} be the universal extension defined by the pull back diagram

$$\begin{array}{ccccccc} 0 & \rightarrow & p^* \mathcal{E} & \rightarrow & \mathbb{V} & \rightarrow & p^* \mathcal{F} \rightarrow 0 \\ & & \parallel & & \downarrow & & \downarrow \lambda \\ 0 & \rightarrow & p^* \mathcal{E} & \rightarrow & p^* \mathcal{V} & \rightarrow & p^* \mathcal{F} \rightarrow 0 \end{array}$$

Further, $\iota_1^* \mathbb{V} \cong \mathcal{V}$ and $\iota_0^* \mathbb{V} \cong \mathcal{E} \oplus \mathcal{F}$.

Let $j : X \times (\mathbb{A}^1 \setminus \{0\}) \hookrightarrow X \times \mathbb{A}^1$ be the natural inclusion. Since λ is an isomorphism on $\mathbb{A}^1 \setminus \{0\}$, $j^* \mathbb{V} \cong j^* p^* \mathcal{V}$. This implies

$$j^* c_k(\mathbb{V}) = c_k(j^* \mathbb{V}) = c_k(j^* p^* \mathcal{V}) = j^* p^* c_k(\mathcal{V}) = c_k(\mathcal{V}) \otimes 1$$

Since $j^* : \mathbb{H}^k(\Omega_X^k) \otimes k[x] \rightarrow \mathbb{H}^k(\Omega_X^k) \otimes k[x, x^{-1}]$ is an inclusion,

$$c_k(\mathbb{V}) = c_k(\mathcal{V}) \otimes 1 = p^* c_k(\mathcal{V}) \in \mathbb{H}^k(\Omega_X^k) \otimes k[x]$$

Now for any $x \in \mathbb{A}^1$, $\iota_x^* p^* \mathcal{V} \cong \mathcal{V}$ and so

$$c_k(\iota_x^* \mathbb{V}) = \iota_x^* p^* c_k(\mathcal{V}) = c_k(\mathcal{V})$$

which is independent of $x \in \mathbb{A}^1$. □

REFERENCES

- [1] Atiyah, M. F. *Complex analytic connections in fibre bundles*, Trans. A.M.S. 85 (1957), 181–207.
- [2] A. Grothendieck, *Classes de Chern et representations linaires des groupes discrets*, Dix exposés sur la cohomologie des schémas, Advanced Studies in Pure Mathematics, Vol. 3 North-Holland Publishing Co.,
- [3] R. Godement, *Topologie algébrique et théorie des faisceaux*, Troisième édition revue et corrigée. Publications de l'Institut de Mathématique de l'Université de Strasbourg, XIII. Actualités Scientifiques et Industrielles, No. 1252. Hermann, Paris, 1973. viii+283 pp.
- [4] R. Hartshorne, *Algebraic Geometry*, Graduate texts in Mathematics, Springer.
- [5] Kapranov, M. *Rozansky-Witten invariants via Atiyah classes*, Compositio Math. 115 (1999), no. 1, 71–113.
- [6] N. Mohan Kumar, C. Peterson and A. P. Rao, *Construction of low rank vector bundles on \mathbb{P}^4 and \mathbb{P}^5* , J. Alg Geom
- [7] N. Mohan Kumar, A. P. Rao and G. V. Ravindra, *On the Geometry of Generalised Quadrics*, Preprint Dec 2004.

DEPARTMENT OF MATHEMATICS, WASHINGTON UNIVERSITY IN ST. LOUIS,
ST. LOUIS, MISSOURI, 63130

E-mail address: kumar@wustl.edu

URL: <http://www.math.wustl.edu/~kumar>

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF MISSOURI-ST. LOUIS, ST.
LOUIS, MISSOURI 63121

E-mail address: rao@arch.ums1.edu

DEPARTMENT OF MATHEMATICS, WASHINGTON UNIVERSITY IN ST. LOUIS,
ST. LOUIS, MISSOURI, 63130

E-mail address: ravindra@math.wustl.edu